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TKperf Test Report
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1   Device Information
Tested Device:

• vendorId = 'STEC'

• productId = 'KI04A04A-480UCV'

• firmwareVersion = 'V05Y'

• bootLoaderVersion = '2.4.10'

• hardwareConfigVersion = '2.4.12'

• xRomVersion = '1.0'

• capacityInGB = 400 0x190

• driveType = Gen4Pcie

• serialNumber = 'STM000168C32'

2   Setup Information
Performance System:

• TKperf Version: 1.1
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• Fio Version: n.a.

• Date of test run: n.a.

• Number of jobs: 2

• Number of outstanding IOs (iodepth): 16
Operating System:

• Kernel Version: n.a.

• Description: Ubuntu 12.04 (manually added)

3   General Information

• workloads: The percentage of read operations in the random mixed workload. In the plots the term
"100/00" means 100% read and 0% write, "95/5" 95% read and 5% write, and so on.

• block sizes: The block size of Fio to be used for IO operations.

• measurement window: Those rounds, where the dependence variable became stable.

• dependence variable: A specific type of test variable to determine the steady state.

3.1   Steady State
The Steady State is to determine if a test has reached a steady performance level. Each test has a
different dependence variable to check if the state has already been reached. To check for the steady
state the performance values of a test measurement window are taken (the last 5 rounds). The steady
state is reached if:

• The maximum data excursion is less than 20% of the average in the measurement window.

• The slope of the linear best fit line is less than 10% of the average in the measurement window

If these two conditions are met the steady state has been reach for the specific dependence variable.
Therefore the test can be stopped and the performance values of the measurement window can be taken
for the measurement plots. If the steady state has not been reached after a maximum number of rounds
the test can be stopped as well. The numbers for these two variables are:

• Measurement Window: 4

• Max. number of rounds: 25

4   IOPS
The IOPS test consists of looping over the following parameters:

Make Secure Erase
Workload Ind. Preconditioning
While not Steady State
        For workloads  [100, 95, 65, 50, 35, 5, 0]
                For block sizes ['1024k', '128k', '64k', '32k', '16k', '8k', '4k', '512']

Each combination of workload and block size is carried out for 60 seconds using direct IO. The average
number of read and write IOPS is measured and summed up, therefore 56 values are the result of the two
loops. After these loops are finished one test round has been carried out. To detect the steady state the
IOPS of 4k random write are taken.

• Dependent Variable: 4k block size, random write
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4.1   Steady State Information
Steady State has been reached:

• True
Steady State has been reached in rounds :

• [0, 1, 2, 3, 4]
Values in stdy measurement window:

• [31786, 31149, 30793, 32721, 31564]
Average in stdy measurement window:

• 31602.6

4.2   Measurement Plots

The Steady State Convergence Plot shows the reached IOPS for all block sizes of
random writes over all rounds.
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The Steady State Verification Plot shows the measured IOPS of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement

window.

The Measurement Plot shows the average of IOPS in the measurement window. For
every workload the IOPS of all block sizes are plotted.
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The Measurement 3D Plot shows the average of IOPS in the measurement window.
For every workload the IOPS of all block sizes are plotted.

4.3   Measurement Window Summary Table

Average IOPS vs. Block Size and R/W Mix %

Block Size
↓

Wld. →
100/0 95/5 65/35 50/50 35/65 5/95 0/100

512 100215.2 79964.2 46757.0 43170.6 39593.0 33011.2 31711.2

4k 93633.6 77557.4 48067.4 42701.6 38949.6 30591.8 31602.6

8k 86269.2 72038.0 47886.4 44860.0 43267.2 34490.8 33729.2

16k 60078.0 48370.0 30934.4 29280.6 26961.6 18563.0 17138.2

32k 35932.2 29498.4 18453.8 15884.0 14831.2 10685.8 10987.6

64k 17661.2 15970.6 10420.0 8244.4 7945.4 6438.6 6376.8

128k 10854.8 9293.6 5555.0 4412.6 4193.8 3781.2 3365.4

1024k 1125.4 1027.2 573.6 468.0 474.8 437.8 527.8

5   Throughput
The throughput test consists of looping over the following parameters:

For block sizes  ['1024k', '64k', '8k', '4k', '512']
        Make Secure Erase
        While not Steady State
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                Sequential read
                Sequential write

For each block size sequential read and write is carried out for 60 seconds using direct IO. The number of
kilobytes for read and write is measured, therefore 2 values are the result of one round. To detect the
steady state the throughput of 1024k sequential write is taken.

• Dependent Variable: 1024k block size, sequential write

5.1   Steady State Information
Steady State has been reached:

• True
Steady State has been reached in rounds :

• [0, 1, 2, 3, 4]
Values in stdy measurement window:

• [630699, 629348, 632177, 627182, 627982]
Average in stdy measurement window:

• 629477.6

5.2   Measurement Plots

The Read/Write Steady State Convergence Plot shows the bandwidth for all block sizes
of seq. reads over all rounds. On the top the write throughput is plotted, below the

throughput for read.
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The Steady State Verification Plot shows the bandwidth of 1024k seq. writes, the 20%
average window and the slope of the linear best fit line in the measurement window.

The Measurement Plot shows the average bandwidth of reads and writes in the
measurement window. For all block sizes the seq. read and write bandwidth is plotted.

5.3   Measurement Window Summary Table
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Average MB/s vs. Block Size and R/W

Block Size ↓ Read Write

1024k 1091.141 614.724

64k 932.894 646.926

8k 668.292 530.427

4k 455.698 380.813

512 73.666 72.639

6   Latency
The latency test consists of looping over the following parameters:

Make Secure Erase
Workload Ind. Preconditioning
While not Steady State
        For workloads  [100, 65, 0]
                For block sizes ['8k', '4k', '512']

For all block sizes random read, a 65/35 read/write mixed workload and random write is carried out for 60
seconds using direct IO. For every combination the Min, Max and Mean Latency is measured. After these
loops are finished one test round has been carried out. To detect the steady state the mean latency of 4k
random write is taken.

• Dependent Variable: 4k block size, random write mean latency

6.1   Steady State Information
Steady State has been reached:

• True
Steady State has been reached in rounds :

• [2, 3, 4, 5, 6]
Values in stdy measurement window:

• [835.842407, 818.349269, 781.864974, 777.084755, 821.651755]
Average in stdy measurement window:

• 806.958632

6.2   Measurement Plots
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The Steady State Convergence Plot shows the mean latency for all block sizes of
random read, mixed workload and write.

The Steady State Verification Plot shows the mean latency of 4k random writes, the
20% average window and the slope of the linear best fit line in the measurement

window.
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The Latency Measurement 3D Plot shows the average latency on top and the max
latency below it. For the measurement window every workload including all block sizes

is plotted.

6.3   Measurement Window Summary Table

Average Latency (ms) vs. Block Size and R/W Mix %

Block Size ↓ Wld. → 0/100 65/35 100/0

8k 0.612 0.587 0.366

4k 0.807 0.647 0.337

512 0.806 0.625 0.315

Max Latency (ms) vs. Block Size and R/W Mix %

Block Size ↓ Wld. → 0/100 65/35 100/0

8k 43.279 10.895 9.721

4k 54.912 15.1 1.547

512 51.546 13.038 1.527

7   Write Saturation
The write saturation test consists of looping over the following parameters:
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Make Secure Erase
While not written 4x User Capacity or 24h
        Carry out random write, 4k block size for 1 minute.

For 4k block size random write is carried out for 60 seconds using direct IO. For each round (60 second
window) the write IOPS and latencies are measured. Also the total written IO is measured to check if 4x
capacity has been written.

As no steady state detection is necessary there is no dependence variable.

7.1   Measurement Plots

The Write Saturation IOPS Plot shows the average IOPS of 4k random writes over all
rounds.
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The Write Saturation Latency Plot shows the mean latency of 4k random writes over all
rounds.
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